Interactive comment on “Brief Communication: Breeding vectors in the phase space reconstructed from time series data” by Lynch et al.
The authors have addressed most of my concerns. I am happy now to see this paper get published after the following point being addressed.
The authors said that “points 
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” on page 4 (line 23). And then the authors said that “excluding l = 6 adjacent points on the control trajectory from the nearest-neighbor search” on Page 6 (line 15). However, based on the authors’ answers to my original comments 4 and 8, “l = 6” should be changed to be “6” to avoid the confusion. Is it right?
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